
How to succeed in GCSE English. 
 

GCSE English Language – AQA  

Language Paper 1 – Analysing Fiction and Producing Creative Writing 
(80 Marks) 

Language Paper 2 – Analysing Perspectives in Non-Fiction and 
Producing Persuasive Writing (80 Marks) 

 

 

GCSE English Literature – AQA 

Literature Paper 1 – Macbeth & A Christmas Carol (64 Marks) 

Literature Paper 2 – Animal Farm, Poetry & Unseen Poetry (96 Marks) 

 

What’s included? 

• Content students need to know in order to succeed – what 
students need to learn. 

 

 

 

 

 

 

 

 

 



Language Paper 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Question 5 and the approach – Narrative Writing 

• Complete Question 5 First  Read the questions and highlight the steers  Take particular care 
reading Question 4 – the statement usually gives you a good idea of what type of text to expect 
and will assist with Q3 particularly.  Draw a box around the extract you are allowed to use 
for Q1 and 4 – 2 is done for you.  Read the information box above the extract.  Read the 
extract carefully – highlight as you go and annotate if it’s useful to you. 

There are lots of ways to do well on this question. You have already prepared your way. Try to spend 
40-45 minutes here 

Advice on what to consider: 

• Vary sentences – some short and simple; some complex. 
• Accurate spelling 
• Advanced words 
• Range of accurate punctuation () - : ;  
• Effective use of varied paragraphs – use a one-liner!  
• Paragraphs start well with varied openers (not just ‘The’):  
• use prepositions, verbs, adverbs, adjectives 
• Inventive structural devices: motifs / flashbacks 
• Range of techniques: simile, semantic field, metaphor, personification 

 

Question 2 – Language Paper 1 

Language analysis  zooming in/layered analysis of words/phrases  10-12 minutes 

Look for trends/patterns throughout the extract rather than using random, isolated quotes. Is there a 
semantic field? Do they use an extended metaphor? Is there any juxtaposition? 

How does the writer use language to present __________? 

Overall, …... is presented as.... and almost as though / which could reflect / symbolise 

Simile: A comparison between two things using "like" or "as" (e.g., "as brave as a lion"). 

Metaphor: A direct comparison between two things without using "like" or "as" (e.g., "Time is a 
thief"). 

Personification: Giving human qualities to non-human things or objects (e.g., "The wind whispered 
through the trees"). 

Semantic Field: A group of words related in meaning, often linked to a specific theme or topic (e.g., 
words like "ocean," "waves," "shore" form a semantic field of the sea). 

Motif: A recurring theme, idea, or symbol in a piece of writing (e.g., light vs. darkness as a motif). 

Pathetic Fallacy: When emotions are attributed to nature or the environment (e.g., "The angry storm 
raged outside"). 

Juxtaposition: Placing two things side by side to highlight their differences or create contrast (e.g., 
"It was the best of times, it was the worst of times"). 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Question 3 - Structure 

Whole source  Structure (no analysis of words/phrases)  10-12 minutes 

Here, we want to think about when and why a writer includes elements of plot, and how this interests the 
reader. 

 

How does the writer use structure to interest the reader? 

 

‘The writer begins by…… Mention STRUCTURAL FEATURE… Explain the effect… This guides the reader to 
establish…  

By the middle of the piece, we are introduced to… Mention STRUCTURAL FEATURE… Explain the effect… Having 
already understood…, we are now ready to…  

The piece ends with… Mention STRUCTURAL FEATURE… Explain the effect… which forces a reflection on…’  

Likely to be at the start In the middle The end 
Narrative hook, 
narrowing/widening focus, 
introduction of character, 
introduction of setting 

Dialogue or narrative 
perspective/time/place shift 

Key sentence/climax 
Cyclical structure 
Cliffhanger ending 

   

Introduction of character VS introduction of setting:  Establishes them as the protagonists / helps us immediately 
connect / relate / sympathise with… OR Establishes place and setting / helps readers contextualise their 
situation etc  

 

 

 

 

Question 4 - Evaluation 

Specific lines  Student statement (usually has two parts to it)  20-25 minutes 

 

To what extent do you agree with the statement? 

 

1) Write your opening / big ideas / thesis as to why you agree – explain this! (Don’t quote too soon): 

“Overall, I mostly / fully agree that xxxxxxx because………………." (refer to student's statement) 

2) Outline your first reason:  

"As readers, we see how xxxx" (refer to student's statement) 

3) Annotate for method / structure (Q2 and Q3 style) 

“The writer comments how xxx” 

                                                    

Statement A Statement B 

  

  

 

       



Language Paper 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Question 5 and the approach 

Complete Question 5 First  Read the questions and highlight the steers  Read the 
sources for meaning, tracking how the writer feels and where this changes, how do we 
know? Use two highlighters to highlight quotations for Question 2 and 4. Draw a box 
around the lines required for Question 3. Answer the questions. 

There are lots of ways to do well on this question. Try to spend 40-45 minutes here 

Advice on what to consider: 

• Cyclical Structure 
• Anecdotal Opening 
• Vocabulary 
• Punctuation 
• Rule of Three 
• Hyperbole 
• Tone  Be over the top! 
• Form  Letter? Speech? Article? 
• Extended metaphor and similes 
• Expert’s opinion 
• Statistics 

Question 2 

Both Sources  10 minutes. 

We are looking for quotations about the THING. E.G. The surfboards NOT feelings. 

Opening: 

Whilst in Source A the _______________ is described as __________________ and ___________________, in 
Source B the _____________________ is described as ___________________ and ____________________. 

 

Then layered inference from Source A. Use quotations. 

Compare 

Layered inference from Source B. Use quotations. 

 

Words to help you infer: 

This implies, this creates a sense of, this suggests, this could perhaps imply.  

E.G. The boards are described as ‘blessed’ implying that the boards are a spiritual item. It could even suggest 
that the boards are worshipped or part of a ritual. 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Question 3 

One Source  Specific lines.  12-15 minutes. 

Here, we want to complete a layered analysis. 

 

Opening: 

The writer uses language to describe the ___________________ as ___________________ and it’s almost as if… 

 

Then layered analysis of quotations  Use your best quotation first in case you run out of time. 

Complete as much analysis in the time as you can and move on. Try to analyse at least two quotations. 

Look for: Semantic fields, similes, metaphors, personification, verbs. 

 

Words to help you analyse: 

Suggests, is perhaps best depicted in the ________________, emphasizes, highlights, amplifies, creates a sense 
of, 

E.G. The surfer is described as ‘bronze’. This perhaps suggests that he is god-like and prestigious, like royalty. 

Question 4 

Both sources  20-25 mins 

He we want to complete a layered analysis, whilst comparing and linking it to how the 
writers feel or view something. The context boxes can be particularly helpful here. 

 

Opening: Whilst in Source A the writer feels _________________ and later 
_________________, in Source B they feel ____________________ and _________________ 
about… 

 

Then layered analysis from Source A. Use quotations and try to identify any shifts in 
perspective or feeling. Use quotations to support your interpretation. 

Compare 

Then layered analysis from Source A. Use quotations and try to identify any shifts in 
perspective or feeling. Use quotations to support your interpretation. 

Words to help you compare and contrast: 

However, on the other hand, similarly (if similar), this is in stark contrast to 



 



 



 



 



 



 



 



 

 

 

 

 

 


